11”18 (Kl 1n18)

Linearized knot diagam
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bj\_/l Solving Sequence

1,7—>1—>8—>10—->36 >5—2—>4— 9 —>> (C2,C3,C8
Cs C9

A knot diagranﬂ €11 Cr  Cio  Ce C1  C4
Ideals for irreducible component#ﬂ)f Xpar
It = (—u* +2u® + - 420 — 1, —2u?' +6u* + -+ 2a+5, v —3u + . —du+1)

I = (wPa+b+a, va+a® +au+a—u, ub +u?+2u+1)

* 2 irreducible components of dim¢ = 0, with total 28 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =

(—u?1+2u20+...+2b—1, —2u?1 +6u?°+...+2a+5, u??—3u?'+...—4u+1)

(i) Arc colorings

o ()

%u21—4u20+- + 6u — 2
ag = %uzl—u%—i—- —I—U-i-%
—u20+%u19+~-+u+%
ay = %u21—2u20+-~~+3u—§
—ut —u?+1
ag = —ut — 22
—ut—u?+1
ag = —ut — 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 3u?! — L3420 4 8Ly19 — 73018 4 226u!7 — 340u' + 674u!® — 828ut + 225413 — 1060u'2 +

1009u't — 18024,10 4+ 57749 4 3TL0® — 1987 + 2420 — 60u® + L +82u® — Pu? + P —

1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w2+ 4w+ +3u+1
Ca u? +4u?t 4+ Tlu+ 1
c3,Cg w2 P —32u+64
Cs u?? — 4u* -+ 1113u + 306
Co u?? +3u?t + ... — 105u + 34
€7, €10, C11 u?? —3ut - —du+1
Co W22 2l 924




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢4 Y24yt Ly 41
Ca v+ 32y o+ 1Ly + 1
€3,C8 y*? — 35y + ... — 17408y + 4096
¢ y?? + 60y*' + - + 3785751y + 93636
Co y*2 + 19y + .- + 18011y + 1156
€7, €10, C11 y2 423 4y +1
co y?2 439921 . dy + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.770283 + 0.5895381
= 1.125210 — 0.3793101
= —0.07905 — 1.818691

10.13960 + 0.884521

—0.211027 4 0.3061291

= 0.770283 — 0.5895381
= 1.125210+ 0.3793101
= —0.07905 + 1.818691

10.13960 — 0.884521

—0.211027 — 0.3061291

= 0.804807 + 0.5170361
= —1.042990 + 0.3000311
= 0.13147 + 1.873901

9.90919 — 6.126371

—0.73850 + 4.708801

= 0.804807 — 0.5170361
= —1.042990 — 0.3000311
= 0.13147 — 1.873901

9.90919 + 6.126371

—0.73850 — 4.708801

= —0.115563 + 1.2445501
0.708694 + 0.4693961
= 0.634802 — 0.0338101

1.83932 + 1.958751

—3.73580 — 3.683471

= 0.708694 — 0.4693961
= 0.634802 + 0.0338101

1.83932 — 1.958751

—3.73580 + 3.683471

= —0.248700 + 1.3537801
0.267493 — 0.4379741
= —0.005781 — 0.3835011

3.35457 + 3.665091

0.212427 — 1.1757871

—0.248700 — 1.3537801
0.267493 + 0.4379741
—0.005781 + 0.3835011

3.35457 — 3.665091

0.212427 + 1.1757871

—0.597356 + 0.1259171
= 0.501330 — 0.3296511
0.173251 — 0.1491401

—1.35470 + 0.571021

—7.20802 — 0.390121

—0.597356 — 0.1259171
= 0.501330 + 0.3296511

U
a
b
U
a
b
u
a
b
U
a
b
U
a
b
uw = —0.115563 — 1.2445501
a
b
u
a
b
u
a
b
u
a
b
U
a
b= 0.173251 + 0.1491401

—1.35470 — 0.571021

—7.20802 + 0.390121




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.08081 + 1.447321
a= 0.03594 + 1.888891
b= 0.95469 + 1.280561

5.22365 — 3.911651

1.62467 + 2.795811

uw=0.08081 —1.44732]
a= 0.03594 — 1.888891
b= 0.95469 — 1.280561

5.22365 + 3.911651

1.62467 — 2.795811

u = —0.02169 + 1.493751
0.116291 — 1.3855501
b= —0.551917 — 1.0063601

a =

7.30874 + 1.689621

3.46122 — 1.996841

u = —0.02169 — 1.493751
0.116291 + 1.3855501
b= —0.551917 + 1.006360.1

a =

7.30874 — 1.689621

3.46122 4 1.996841

—0.037659 + 0.4780541
1.42737 — 0.643651
= 0.056911 — 0.6547351

0.83479 4 1.395291

1.49278 — 4.061611

= —0.037659 — 0.4780541
1.42737 + 0.643651

U
a
b
U
a=
b= 0.056911 + 0.6547351

0.83479 — 1.395291

1.49278 + 4.061611

0.28918 + 1.537361
a = —1.00511 + 1.948991
b= 0.28840 + 2.004711

u =

16.5973 — 10.14731

1.94212 + 4.943491

u= 0.28918 — 1.537361
a = —1.00511 — 1.948991
b= 0.28840 — 2.004711

16.5973 + 10.14731

1.94212 — 4.943491

u= 0.25416 + 1.564461
a= 0.88215 —1.896311
b= —0.32453 — 1.884911

17.2299 — 2.88961

2.69042 + 0.636031

w=0.25416 — 1.564461
a= 0.88215+ 1.896311
b= —0.32453 4 1.884911

17.2299 + 2.88961

2.69042 — 0.636031




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.321731 + 0.2352141
—2.01637 + 0.185041
0.721764 + 0.8617771

—0.35018 — 2.572821

0.96973 + 5.859431

0.321731 — 0.2352141
= —2.01637 — 0.185041

U
a
b
U
a=
b= 10.721764 — 0.8617771

—0.35018 + 2.572821

0.96973 — 5.859431




II. 1Y = (u*a+ b+ a, v*a+a®+au+a—u, u*> +u?+2u+1)

(i) Arc colorings

ag —

as =

aq =

ag =

—U
ag = \—u?—u-—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u?a — au — 3u® — 3a — 3u — 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C5 (u? +u+1)3
cs3,C8 u®
Cy4 (u2 —u+ 1)3
€6, Cy (u® +u? —1)?
€7 (u® —u? +2u —1)2
€10, C11 (u® 4+ u? + 2u + 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq4 (y2+y+1)3
cs
C3,C8 yG
€65 Co (v’ —y* +2y—1)°
€7, €105 €11 (v + 3y* + 2y — 1)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.215080 + 1.3071401
a = —0.206350 — 1.1323201 3.02413 4- 0.798241 1.45566 + 0.283641
b= 0.500000 — 0.8660251

u = —0.215080 + 1.3071407
1.083790 + 0.3874531 3.02413 4 4.858011 | —2.09851 — 6.804811
b= 0.500000 + 0.8660251

u = —0.215080 — 1.3071401
a = —0.206350 + 1.1323201 3.02413 — 0.798241 1.45566 — 0.283641
b= 0.500000 + 0.8660251

u = —0.215080 — 1.3071401
a= 1.083790 — 0.3874531 3.02413 — 4.858011 | —2.09851 + 6.804811
0.500000 — 0.8660251

—0.569840
= —0.377439 + 0.6537437 | —1.11345 + 2.029887 | —5.85715 — 2.437831
0.500000 — 0.8660251

—0.569840
= —0.377439 — 0.6537431 | —1.11345 — 2.029881 | —5.85715 + 2.437831
= 0.500000 + 0.8660251

b
U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (W 4u+ 1) +4u® + - +3u+1)
€2 (W +u+1)3) (W + 4 + -+ 11lu+1)

c3, Cg uS(u* — w4 - — 32u + 64)
¢4 (u? —u+ D)W +4u® + - +3u+1)
Cs (u? 4+ u+ 1)) (u?? — 4u®' + - + 1113u + 306)
Co (0 +u® = 1)*)(u? + 3u® + -+ — 105u + 34)
7 (u® —u? +2u— 1)) W? = 3u® +--- —du+1)
o (W +u? = 1)) (u? —u® + -+ 2u% + 1)

€10, C11 ((u3+u2+2u+1)2)(u22 73u21+~-~—4u+1)

12



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C4 (P +y+ D)2+ 42+ + 11y +1)
2 (P +y+ D)2 + 3202 4 - + 11y + 1)
cs3, Cs y®(y*? — 35921 + .- — 17408y + 4096)
Cs (2 +y +1)®) (1> + 60y>" + - - - + 3785751y + 93636)
Co () —y® + 2y — DD + 19y + -+ + 18011y + 1156)
€7, €10, C11 (> +3y* +2y — D)) (2 + 23y + -+ 4y + 1)
“ (v =y + 29 = ") (y™ + 399" + -+ 4y + 1)
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